TX A Rageasme ot
—= : S —/-
T - : =355
1 REAL PL1000) ,DUR{LOOD), RSTIlOOO},AMP(lOOOJ,
1 TIM{1000),T0{100D)
2 REAL LOLEV,HILEV
3 REAL T!TLE(lE}
4 REAL AL{1000),A2{1000),P1({1000}, P2(1ooo),ro1¢1oom i
1,T02{1000) il
5 REAL DM{1000},0MST{1000!.DMD1(1000},0MD2{1000)
6 REAL DMIN
7 INTEGER ISTART(1000) , IENDL100O)
B INTEGER NEXT{10)} CUUNT(IOJ:NUMBERILO) : i
9 INTEGER HICNT:FLAG TEMPOL ' i
c
C INITIALIZE AND READ IN SCORE -
10 TLOGLA)=ALCGIAY/ALOS (2.0) 5
11 READI(5,39)TITLE b
12 39 FORMAT(15A4) i
13 READ(5,4o}nUMBER11).CMIN,TEMPol 4
14 40 FORMAT{IS5.F5.2, [4) Hi
15 TEMPL=FLOAT(TEMPOL } /50.0
c ROUNDS GFF CMIN TO PREVENT FORTRAN ACCURACY CRROPMS .
16 . CMIN=CMIN®.001
17 WRITE({6441)TITLE
18 41 FORMAT {1H1+1544) :
C - )
19 WRITE(6,55)TEMPOI : .
20 55 FORMAT{LHO, *TEMPD (MM} =4+,18) g
21 HRITE{S,38ICMIN i
22 38 FORMAT{1HO,'CMIN= ' 4F5,2)
c : !
23 " EPS1=0.0001 |
24 N=NUMBER(1} : - N
25 WRITE(6,59) :
26 59 FORMAT(LHI 2Xs'N' 34X, "OUR 45X, *RST* 44X, t PITCHY y6X, "4 L%, TX, TAZ T ,3X, ¢
: 1YTMBRY, /) :
27 DO 67 I=1,N
28 READ(5,60)DURIT),3STLI),PIT),AL{1),A2{1),TIM(I)
29 60 FORMAT(5X,6F5.0)
30 WRITE (646611 JDURC I}, RSTUE,PLT) yALLI), AZ(I), TIM(I)
31 66  FORMAT{I5,6F8.2)
32 &7 CONTINUE
C
33’ _ DO $725 I=1,N
34 PL{I)=P(D}
35 DYRITI=DUR( L}/ TEMPD
36 T0{1)=3.0-TLOGIDUR(I])
37 TDI(T)=TD(I)
38 RST{I)=RST{1}/TEMPD
39 - AMPII}=(ALIT}I+A2L1))/2.0
40 97125 P2LT1}=P(I)
41 CMIN=CMIN/ TEMPO
42 READ{5,TO}NPASS
43 70 FORMAT(14)
G4 DO 96C0 ILDGP=1,N° ASS
45 N= NUMBER (1}
46 READIS ;T2 IDW PRy AW TOW, TH
47 72 FORMAT{S5F6,2)
48 ' WRITE(6,74}1DWPW, Ally TDW,THW _
49 T4 FORMAT(LHO,, *WEIGHTINGS: PROXIMITY="',
oL F5.24t PITCH=',F5.2,' INTENSITY=",F5.2,' TEMPORAL DENSITY=1,
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F5.2,' TIMBRE=',F5.2)
WSUM=P W+ DW+TOW+AWE TW
PW=P W/ WS UM
DH=Dh/HSUM
TDW=TDW/WSUM
AW= A%/ WS UM
TH=TH/HSUM
DO 76 K=1,10
COUNT (K )=)
DO 78 K=1,1000
DMK }=0,0
DMST{K}=0.
DMD1{K)=0
DMD2(K)=0
IEND(K) =0
ISTART{K}= 0

DA=DW*10.0

INTIALT ZES BOUNDARIES ON FIRST LEVEL
DO 1777 I=2yN

PI=PW*(PI([)-P2(1-1})
DI=0.0
DI=DW*{RST{I-1)) .
IF (RST(I-1),EQ.0.}ALAST=A2(1I~])
IFIRST{1-1}1.6T.0.)ALAST=0.
Al=AW*{ Al{ T)-ALAST)
DMEI}=1ABS{DI}+ABSIPI)+ABS{TDI)+ABS{AI))

DML 1)=DM{1}*2.0

CONTINUE

DO 80 I=501,1000
PlI}=0
DUR{I}=p
AMPLI}=0
ID(I)=0
TIMiL
RST{1}

CONTINUE

It

0
0
LEVEL=0

MAIN PROGt AM

SETS NEW LEVEL,CLEARS CQUNTERI(CHECK), AND INITTAL[ ZES
FLAG, WHICH TELLS YOU IF YDU'VE FINISHED ON A LEVEL.
CHECK [s A VARIABLE WHICH SEES IF THERE ARE ENOUGH
TG*'S CURRENTLY TO COMPUTE FOR INITIATION.

CHECK=0

ET=0.

FLAG=0
LEVEL=LEVEL+1

SETS ARRA! INDICES.
LOLEV= {2.0%%{LEVEL=-1)} :
HILEV= [2.0%%(LEVEL)) : .




.1
|
91 . K1=1000.0-((1.0/L0LEVI*1000.0) i
92 K2=1000.0-{(1,0/HI LEV)#1000.0) . it
93 WRITE(619375) 7 ‘ 1l
c | i
c IF NUMBER<4y THEN NOT ENOUGH TG'S ON THIS HIGHEST LEVEL
c . TO YRY AND MAKE DISTINCTIONS. SO PROGRAM TERMINATES.
94 IF (NUMBER{LEVEL}.LT.4) Gg TO 9000
95 HICNT=1
96 ISTART(K2+1)=K1+1
o
c SPECIFIC > LANAR COMPUTATION ;
97 500 COUNT(LEVEL}-COUNT(LEVELI+1 i)
98 TCOUNT=COUNT{LEVEL } , - i
99 . CHECK=CHECK+1 i
100 IF{ TCOUNT.LE. NUMBER {LEVEL ) ) 6O TU 550
101 FLAG=1
102 GO TO 700 . . i
C : - ‘ i
c '
c KEEPS TRACK OF FLAPSED TIME IN TG. ?
103 550 ET=ET+DUR(TCOUNT+K1} %
- cC CHECKS FOR 'ONE FLEMENT CLANGS'. ' ' i
104 IF{CHECK.LT,2)60 TO 500 : |
C :
< COMPUTE IQTERVAL (D!SJUNCTIDN ME ASURE) |
105 IND={TCOUNT+K1) E
C i
c MEAN INTER VALS i
106 PI=PWe(P [IND)-P{IND-1)} g
107 - DI=DW¥DUR(IND-1)
108 " IF (LEVEL.GT.1}DI=0,
109 TOI=TOW*(TO( IND)-TD(IND-1))
1io AL=Ay*{AMP {IND) —AMP (IND-1)}
111 TI=THECTIMUIND)-TIM(END-1) }
: c SUMS MEAN INTERVALS. b
112 ABSUM=ABS{PI)+ABSI TOI)+ABS{ AL} +ABS(TI}+DI ‘ 5
¢ :
Cc i
C nCITY-BLOCK™ METRIC. i
113 DML IND)=_5%DM{ IND) + ABSUM i
c : ki
114 IF{TCOUNT.LT.4160 TO 650 1
o ' _ i
c COMPUTES DIFFERENCE OF PEAK WITH SURROUNDING DM'S TO GIVE fg
C ROUGH IDEA OF STRENGTH OF INITIATOR. oy
115 DMDL{IND-1)=1.0-{DMIIND~2)/DM{IND=1}} i
116 DMD2 (IND-1}=1,0-(DM{IND) /DM {IND~1)} _ |
C ) . y
117 650 IF (CHECK.LT.4} GO TQ 500 . I
C g ‘ #
c CHECKS MINIMUM TG L ENGTH. |
118 ETCHK=ET—(DUR{ IND~1)+DUR{IND) ) : i
119 IF(ETCHK.LE.CMINIGO TO 500 i
o ‘ Ji
c TESTS FOR PEAK.
120 IF ((OMDIUIND=E).LT.EPSL).0R.{DMD2({IND~1) LT EPSL}) .
1 60 70 500
¢

C IF DMSY POSIYIVE, THEN PEAK. IF ZERGs THEN NOT PEAK.




C COMPUTE PEAK STRENGTH.

121 DMSTUIND—1}=(DMD1{ IND-1}+DMD2{IND-1)}/2.
C
C IF PEAK, VALUES ARE STORED FOR NEXT LEVEL STATES.
122 700 PITSUM=0
123 TIMSUM=0
124 AMPSUM=0
125 DURSUM=g
126 IDSUM=0
127 ‘JEND=TCOUNT+K1-2
128 IF(FLAG.EQ. 1}JEND'TCDUNT+K1 1
129 HYIND=HICNT+K2
130 JBEGIN=ISTART(HYIND)
c
C
131 DO 800 I=JBEGIN,JEND
132 DURSUM=PURS UM+DUR( 1} ,
133 : TIMSUM—TIMSUM+(DUR(I)*TIM(I!}
134 AMPSUM=AMP SUM+ (DURIT):AMP(I))
135 T PITSUM=PITSUMHIDURLII®P(I))
136 IF(LEVEL.EQ.L}TDSUM=TDSUM+TDIT)
137 IF (LEVEL, NE.L)ITDSUM=TDSUR+{OUR(T)*TDI{1})
138 800 CONT INUE
c _ _
C ADJUSTS ELAPSED TIME W.R.T NEW TG JUST COMPUTED.
[ - i
139 ET=ET-DURSUM
c
C STORE VAL UES AS NEXT LEVEL STATES.
c . _
140 DUR {HYIND)=DURSUM
141 PEHYIND)=PITSUM/DJRSUM
142 AMP { HYTND ) =AMPS UM/ DURSUM
143 TIM{RYINDI=TIMSUM/ DURSUM
144 IF (LEVEL.EQ. 1:TD{HYIND>~rDSUM/(JtN9 JBEG IN#1}
145 IF (LEVEL.NE.L)TDH{ HYIND)=TDSUM/DURSUM
146 PLUHYIND)=P( JBEGIN}
147 P2{HYINDI=PLJEND)
148 RSTE(HYIND)I=DUR(JEND)
149 ALCHYINDI=AMP (JBES IN)
150 AZ{HYIND)=AMP [JEND )
151 ' TDL{HYIND}I=TD(JBEGIN)
152 CTDZ2{HYIND)=TD(JEND }
153 DM{HYIND)=DM({JBEGIN)
c ‘ _
C RESETS COUNTERS FOR NEW TG, REMAINING ON CURRENT . EVEL.
C
154 NUMBER(LEVEL+1)=HICNT
155 TEMD (HY IND)=TCOUNT +K1-2
158 IF (FLAG.EQ.LI}TEND{HYIND)=TCOUNT+K1-1
157 IF (FLAG.EQ.1}1 GO TO 100
158 HICNT=HICNT+1
159 ; CHECK=2 ,
160 HY IND=HICNT+K2
161 ISTARTIHYIND) =TCOUNTH+KI-1
162 GO TO 500
C
" -
C CPRINTING SUBRBUTINE.
163 9000 Ki=LEVEL




164 J=NUMBER({1)

165 , DO 9010 K=1,10
166 9010 | . NEXT(K)=1
c
c PRINTS ELEMENTS.
C
167 DO 9500 I=1,d
168 WRITE{6,9350) I,DURCT),RSTIL) ,P (1) ,TDII],
] ALCI) yA2(1) s TIMIT},DMUT),DMSTCT),DMDL{ 1),0MD2( 1)
169 9050 FORMATIIH ,14,9F6.2,5X,2F6.2) '
c
170 - IREF=I
c
171 DO 9400 M=2,K1
172 N=NEXT (M}
173 WS= INT(2.0%%{M=11)
174 K6=1000-({1/W5}%1000)
175 INDX=N+K6
176 INGX=1000-({1/45)* 1000} +N
177 IF (IENDUINDX}.NE. IREF)IGO TO 9500
178 60 TD (950049100, 915059200,9250,93001, M
c .
c
c
C i
¢ CLANGS :
179 9100 WRITE(6,9125) : ‘
‘ 1 NEXT{M),DURTINDX), RSTUINDX) ,P1{INDX)+P2( INDX],
2 P(INDX},TDLIINDX), TD2(INDX) ,TD{INDX),
3 ALUINDX), A2{TNDX), AMP (INDX), TIM( INDX ),
4 DMUINDX)+DMST (INDX ) ,DMD1 {INDX) ,DM02{ INDX }
180 9125 FORMAT(IHO 18X 1 14,14F6.2,4X, 2E6.2)
181 IREF=NEXT{M}+K6
182 NEXT(M}=NEXT (M} +]
183 WRITE(6,9375)
184 60 TO 9400
¢
c
€ SEQUENGES
185 9150 WRITE(6,9175) ,
L NEXTUMI;DURCINDX), RSTLINDXD ,PL{INDX) sP2( INOX),
2 PUINGX),TOL(INDX), TD2{INDX} ,TOLINDX} ,
3 ALUINDXD,A2(INDX), AMP (INDX),TIM(INDX),
4 DMIINDX)yOMST{INDX) ,0MDL{ INDX} ,DMD2 { INDX)
186 9175 FORMAT(LHO 416X, 1dy 14F6.2 14K 4 2F 642 )
187 © IREF=NEXT{M}+K6
188 NEXT (M}=NEXT (M) +1
189 WRITE(6,9375)
190 G0 TO 9400
c
C
C SEGMENTS.
191 9200 WRITE{6,9225)
1 NEXTU{M); DUR(CINDX), RSTCINDX) ¢ P1{INDX) »P2( INDX],
2 P(INDX)sTDI{INDX}, TD2{ INDX) ,TD{ INDX) ,
3 ALCINDX)A2UINDX), AMP LINDX ), TIM(INDX 1,
4  DM{INDX) . DMST(INDX},DMDL{INDX) ,DMO2 (' INDX )
192 9225 FORMAT{LHO 124Xy T4y 14F6.2 4% 42F 6.2
193 IREF=NEXT(M] +K&

194 NEXT{MI=NEXT{M}+]




195
194
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214

SOOO0

250

B N

9275

9300

L TUN X

9325

c
c
9375
c
9400
9500
9600
5080

$ENTRY

WRITE(6,9375)
GO TO 9400

SECTIONS.
WRITE{6:9275) ,
NEXTIM)y DURCIND X}y RSTUINDX) ypLliINDXY 3P 2{INDX),
PEUINDX) s TDI{INDXY, TDZEINDX ), TD{INDX]),
AL{INDX ) o AZUINDX), AMP (INDX) s TIMIINDX )y
OM{INDX) s DMSTLINDX)
FORMAT{IHO,15,14F56.2)
IREF=NEXT(M]) +K6
NEXT(MI=NEXTIM}+]
HRITE(6,9375)
GO TQ 9400

WRITE(6,9325)

NEXTUM) » DURUINDX ), RSTLINDX) ,P] { INDX) .8 2{ INDX ),
PUINDX), TOLLINDX), TO2(INDX) y TD(INDX) »

ALUINDX) s AZUINDXY, AMPLINDX) y TIMUINDX ),
DM{ INDX}y DMST ( INDX}

FORMAT (1HO 15,1 4E6.2)

IREF=NEXT{M) +K6.

NEXTU{MI=NEXT(M) +1

WRITE{6,9375)

GO TO 9400

FORMAT{' )

CONTEINUE
CONTINUE
CONTINUE
STOP

END




